S &= Multiol - .
“ a ultiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
8,375 x 1000 = 7,492 x 100 =
6,312 x 1000000 = 1, 115 x 10000 =
5,381 x 100 = 3,631 x 100000 =
3,401 x 100 = 10, 22 x 1000000 =
7,194 x 1000000 = 7,138 x 10000 =
6,361 x 1000 = 1,851 x 1000000 =
7,758 x 1000000 = 5,454 x 10000 =
4,24 x 100 = 4,72 x 1000000 =
3,457 x 100000 = 8,768 x 10 =
6, 767 x 1000000 = 3,009 x 10000 =
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e, &=
/é ! 6 Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagio:
8,375 x 1000 = 8375 7,492 x 100 = 749.2
6,312 x 1000000 = 6312000 1, 115 x 10000 = 11150
5,381 x 100 = 538.1 3,631 x 100000 = 363100
3,401 x 100 = 340.1 10,22 x 1000000 = 10220000
7, 194 x 1000000 = 7194000 7, 138 x 10000 = 71380
6,361 x 1000 = 6361 1,851 x 1000000 = 1851000
7,758 x 1000000 = 7758000 5,454 x 10000 = 54540
4,24 x 100 = 424 4,72 x 1000000 = 4720000
3,457 x 100000 = 345700 8,768 x 10 = 87.68
6, 767 x 1000000 = 6767000 3,009 x 10000 = 30090
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